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5.1-1 ()
(
L.
(
2.
3. 47
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(m’) m)| () (m’)
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5.7
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; 540 CMD - 256 CMD
308 CMD
2.
/
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5.1

5.2

1,720 m?

11

20

5-3

30

149

78



5.2-1
6 m
5.2-2
7
500 m
5.3
5.3.1
20
( )
104 5 25 10432553400
149 1
1
78
22 104 10
20 105 8 11
106 1 19
5.3.2
()
1. 1,720 m*
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1,720 m*x800 % 13,760 m*

2.
3. 3,736.66 m* 825.60 m’
F3 F5
( F5-1
F5-3 F5-5
F5-6 ) 5.3-1
5.3-1
(') (%)
AF3 963.20 7
AF5
AF5-1
825.60 6
AF5-3 567.21 4.12
AF5-5 ( ) 275.20 2
AF5-6 1,100.80 8
3,732.01 27.12
825.60 6.00
4,557.61 33.12
()
1. F3
104 5 25
149 1 (
10332553400 11 )
19
1 7 %(13,760 m’>x7
%=963.20 m?)
2. F5
(1) F5-1

x6 %  825.60 m®)

(2) F5-3

5-7

6 %(13,760 m’



4.12 %(13,760 m*x4.12 %=567.21 m?)

(3) F5-5 ( )
70 m
20 6 m 16.36 m 275.20 m*
(13,760 m*x2 %  275.20 m?)
(4) F5-6
8
8 %(13,760
m’x8 %  1,100.80 m?)
30 %
40 %
825.60 m” ( 6 %) 5.3-2
3,732.01+825.60 4,557.61 m’
5.3.3
1,720 m? 1 5
29 ( 127.4 m )
1~4 (B-2 ) 5
6~29 (314 )
143 ( 142 ) 133 ( 133
) 6 5.3-3
5.3-4 5.3-1~3
70 m
16 m 20 6 m
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1 (m?) 1,720 1,720 -
825.60
2

2 (m?) 0 6%) +825.6
3 (m?) 17,496.66 18,322.26 +825.6
4 (%) 60.05 60.05 -

5 () ( ) 27,431.58 28.,654.50 +1,222.92

( )
6 1,017.25 1,064.98 +47.73
(%) 2 b

7 (%) 1,016.30 1,064.83 +48.53
8 () 27 29 +2
9 () B5 B5 _
10 (m) 119.9 127.4 +7.5
11 -
12 ( m?) 4(3,072.91) 4(3,072.91) -
13 () 284 314 +30
14 () 126 133 +7
15 () 136 142 +6
16 (m?) 1,367.72 1,367.72 -
18 (m) 25.75 25.75 -
19 (%) 79.52 79.52 -

5.3-3

(m’)

1~2 128.14
22-29 ( ) 611.40
9-21 ( ) 647.81

8 ( ) 647.81

7 ( / 1025.08

6 ( / ) 1092.56

5 ( ) 1092.56

4 (B-2 ) 1092.56

23 (B-2 ) 1098.02

1 ( ) (B-2 1091.31

1 1,367.72

2 1,367.72

3~5 1,367.72




5.3-4

1
2 149 1
3 (m?) 1,720
4 (m?) 1,290
5 (m?) 905.43
6 (%) 75
7 (%) 60.05
8 (%) 800
9 (%) 1064.98
10 (%) 1064.83
13,760.00
T 3,732.01
(m?) 825.60
18,317.61
12 (m?) 18,315.09
13 (m?) 28,654.50( )
14 (m?) C ) 613.10(376.95)
15 (%) ( ) 97.1(50)
1 5
29 | 127.4 m )
16 1~4 (B-2
)y 5 6~29
18 (CMD) 450
19 (CMD) 256
20 (m) 25.75
21 (m?) 1367.72
22 (%) 79.52
23 (m’) 5.6
24 5.7
142 133
6 1 3
2 ) 143 133
6
( )
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(

(

(

(

)

)

)

)

(BRB)

RC

29
(SMRF)
1F~29F

20

C/2~C/3

(SMRF)

130 cm

2F( )

2F( )
RC  BIF( )

5-14

3.64 m

(BRB)
D/1~D/3

DECK

1.1 m

25 m

IF( )

1F
RC



(
( ) (
) 80 %
90 % 1~4
20m &
40 m
6
() () ()
) 7 7
9F~29F
534
()
5.3-4
()
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(

)

1,720 m*
212.20 m*
905.43 m*
(905.43+(1,720-212.20))x100 %=60.05 %

1,720-212.20)x25 %=376.95 m*
(

50 %

= x50 %

376.95%x50 %=188.48 m’

(1) 300 m” (82%)
) 65.9 m* (18%)
300+65.9=365.9>226.17 m*....0K
365.9/376.95x100 %=97.1 % > 50 %....0K
1/3 1/3
300>(188.48/3=62.83) m”....0K
65.9>(188.48/3=62.83) m*....0K

50%

50 %
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=50 %x (

=50 %x(430.18 m*-248
=90.9 m’
2.
54
54.1
1 2
1 8)
()
/
()
()

.39 m?)

105.35 m*>> 90.9 m*....0K

90 m

5-18

16 m

16 m

45 m

5.4-1
5.6 m

2~5

(






()

1
1
()
()
1
1 5.4-2
54.2
1
143 ( 142
133 6
18 20 ) 5.4-1 5.4-2~3
5.4-1
_ - 133 -
27 - - -
34 - - -
42 - _ -
39 1 - -
142 1 133 -
143 133
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133 3
142
5.4-2

543

5.4-1
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54.5

B2 2
5.4-2
5.4-5
106 1 19
( 10540680100 )
106 4 27 10630667700
2
2 5
2
5 6 5.4-5
5.5
5.5.1
() BI1F 22.8 KV
() 2,100 KW 5.5.1-1
5.5.1-1
(VA/m?) (VA/m?) (VA/m?)
30 40 70
200 100 300
120 120
() ATS

5-25







() 3 3W22.8KV 60 HZ
3 4 W 380~220 V 3 380V
3 380V
4 W 380~220 V 1 220V 1 110V
1 110V

() TS LED

55.2
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()

()
() UHF/VHF/FTV
FM
()
5.5.3
()
()
80 % 256 CMD
320 CMD 130 CMD
450 CMD 540 CMD
5.5.3-1
()
1.
3.5 kg/cm®
2.
3 2F
4. 2~4F
() BSF 149.5  SF 184.8 RF 122.4

456.7
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()

()
()
554
1~5
102 25 m’/Hr
5.5.4-1
CO 25 ppm
33m
5.5.4-1
5.5.4-1
(m’)
25 CMH/m’ (CMH) (CMH)
B1F~B3F 1,995 25 49,875 50,150
B4F~B5F 1,340 25 33,500 33,660
5.5.5
(B-2 )
(B-2) ( )
(G-2) (B-3) ( ) (B-4) 4
99
1,075 256 CMD 308 CMD
5.5.5-1
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(m’)
m’ ) (T) () [(Pd- )| m¥d)
9~29
( B-4 | 6,659.09 10 1 666 300 199.8
)
) B-3 | 34137 3 0.6 69 100 6.9
6
( G-2 603.26 10 0.6 37 100 3.7
)
1~4
( B-2 | 251724 5 0.6 303 150 45.5
1,075 - 255.9
( ) 256 CMD
) 308 CMD
= x (1.2)
() )
1.
(1) B B-4
2) 10 m®
(3) 300 /
2.
6,659.09 m?
3.
6,659.09 (m?)/10 (m*/ )=666
666  x300( / )/1,000=199.8 CMD
() )
1.
(1) B B-3
2) 3m’
(3) 0.4~0.6( 0.6 )
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(

(

)

)

(4)

(1
(2)
3)
(4)

(1)
(2)
)
(4)

100 /

341.37 m>

341.37 (m?)/3 (m*/ )=69

69 x100( / )/1,000=6.9 CMD

)
G G-2
10 m?/
0.4~0.6( 0.6 )
100 /

603.26 m*

603.26 (m?)/10 (m?*/ )x0.4(T)=37

37 x100(  / )/1,000=3.7 CMD

)
B B-2
5 m?/
0.5~0.8( 0.6 )
150 /
2,517.24 m?
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2,517.24 (m%)/5 (m?*/ )x0.4(T)=303

303 x150( / )/1,000=45.5 CMD
256 CMD 1.2
308 CMD
29
308 CMD
5.5.5-1
0098
7.1.2

15 101 3 2 ( 10131561601

BOD=600 mg/L SS=600 mg/L ( =30 mg/L

=10 mg/L)...
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5.5.6

5.5.6-1
5.5.6-2
5 4 2~4
3 8F
6
5
5.5.6-3~4
5.5.6-1
5.5.6-1
CFU/100 ml <500
CFU/100 ml <200
- (2015 )
() (Ar)
(
)
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2,408.84 m’
5.5.6-2
5.5.6-2
Ar
/ (m?) (m*)
RF 468 100 % 468
8F 248.54 100 % 248.54
TF 22.95 100 % 22.95
8F~29F 3,180.25 30% 954.08
8F~29F 1,536.96 30% 461.09
8F~29F 847.26 30% 254.18
2,408.84
() (Wr)
R x Ar
=9.76 = 1,000 x2,408.84=23.5 m’
(R (mm/ ) (mm/ )
2015 9.76 mm )
() (Wd)
1.
450.9 m*( 3659 m> 8F
85 m?) 0.002 m/m?/
0.91 m’
2 2~4
60( / / )x
303 18.18 m’
Wd= + 2~4

=0.91+18.18=19.09 m>
() Wd>Wr Ws=Wr=19.09 CMD

() (Vs)
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()

5.5.7

)

)

Vs= Rx Arx Ns

=9.76+1,000x2,408.84x5.67=133.3 m’

281
5 4 2~4
6 3 8F
(Re)

Rc= (Ws Wr  Wd )+ (Wt)

=19.09+450%x100 %=4.25% > 4%

(102.2.26 )
0.078 m’

(A))=1,720 m*
(r1) = 60.05 %
(A2) = (As- )*(1-r1)

=(1,720-201.47)-905.43=613.10 m*

As(m?)
A= + +
=13.65+172.32+148.96=334.93 m*
12(%)=(A3)/(A2)*100 %=54.6 %
5.5.7-1 (r1) (r2)
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(1e)=0.98

5.5.7-1
I )
=0 % 1.00
0%<r1, =20% 0.98
0% = 1 = 209 20 %<1, =40 % 0.96
== 40 %<1, =60 % 0.94
60 %<r, =80 % 0.92
80 %<r, =100 % 0.90
=0 % 1.00
0%<r, =20% 0.99
0% <5 = 40% 20 %<1, =40% 0.97
= 40 %<1, =60 % 0.96
60 % <r, =80 % 0.94
80 % <r, =100 % 0.93
=0 % 1.00
0%<r1, =20% 0.99
0% <t = 60% 20 %<1, =40 % 0.98
= 40 %<1, =60 % 0.97
60 %<r, =80 % 0.96
80 %<1, =100 % 0.95
=0 % 1.00
0%<r, =20 % 0.99
0% <t = 80% 20 %<1, =40 % 0.99
= 40 %<1, =60 % 0.98
60 % <1: =80 % 0.97
80 % <1, =100 % 0.97
17=0 % 1.00
$0% <1 = 999 0%<r, =40 % 0.99
= 40 %<1, =80 % 0.99
80% <1, =100 % 0.98
() Vmin(m®)

Vmin(m?®)=0.078%r.xA;=131.47 m’

()

5.5.7-2
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(1
()
3)
4

(1
()

(1
()
3)
4
%)

(1
()
3)
4

(1
()
3)

(

(

141 m®

141 m®

A=13.65m’
=107 m/s
t=86,400 s

Q1= A xfxt=0.12 m’

V3=19.19 m’( 0.3 m)

Q5=0.05xV3=0.96 m’

( 5.5.7-1)
L,=48 m
x=0.01
k=10" m/s
t=86,400 s

Q4=(8xx"2xkxLxt)+(0.1xL,)=4.81
5.5.7-1)

n=13

=107 m/s
t=86,400 s

(3xfxnxt)+(0.015xn)=0.53
5.5.7-1)
L,=30m

a=15

k=10 m/s
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4 t=86,400 s

(5) (axkxLyxt)+(0.1xL,)=3.04
5.5.7-2
Ve(m?)
(m’) 140.08 141.26
() 13.65 0.12
(m’)
03m 19.19 0.96
(m) 48
001 481
13 0.53
(m) 30
3 3.04
¥Vce=150.72
~Ve =150.72 m’ v
Vmin =131.47 m’
Ve > Vmin
()
5.5.7-3 A
Ac ) 0.63 A=0.13
0.0000173
Qmax= 1,720 (m?) x 0.0000173(cms/m?) = 0.0298 cms
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5.5.7-3

(Ag) | 6,002 m? 7,019.87 m’
55 % 2,700.90 m?
f
CL =107 m/s
86400 s k=10" m/s
Qi
Q
2 3
(mz) 13.65 m 0.12m
Q:
(m’) 19.19 m® 0.96 m’
0.3m
Qs 48
(m) 481 m®
0.01
Q n | 13 0.53 m’
30
Q (m) 3.04 m®
a 15
Q’=YQi=0.12+0.96+4.81+0.53+3.04=9.46
A
Qo=Aoxfxt A= Q’/ Q-0.63
Qo =1,720x86,400x10”’
=14.86

Ae=0.5x(1.0-r)=0.125 » r=

2=Q’/Qo=0.63>Ac=0.13
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5.5.8

2F
35.1 m?
4.5
KW 5.5.8-1
105 10 24 10536958800
800 5%
5%
5%
( )5%
2,100 KW( )x12 x0.9 DMx365 x0.05=413,910
()
4.5 KWx12 x365 =19,710
()

413,910-19,710=394,200

17
1/3
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5.5.8-1

281 5 4
2~4 6
8F
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2/3

70  ~80
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(

(

(

)

)

)

10.

95

APFR

26

CO CO

(T5 PL )

5-51



5.6

(
(

(

(

(

)
)

)

)

)

150

69

0.61~0.852 m’/m>

0.46
1
17,388.42 m*
()
0.7 m*/m*
18,257.84 m*
(
8
(SRC)
28,654.50 m’

3067.21 m®
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8.1.1

(

1.5

)

0.107



)

( 150m’ 5.6-1)

ik ARAR TRt SRR E (R ) L 5 PR 3

5.6-1

)

104 1,075
936 309
627
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)
2.
3.
()
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5.6-1

)
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()
( BIF B2F )
29
5.7
()
1,720 m* 1367.72 m*(
) 2575 m
5.7-1 1.1
5.6 m’
(B2 ) (B4 )
5.7-1
(m?) (m) (m’)
1280.00 25.95 1 33,216
208.00 50.0 1 10,400
6.00 55.0 15 4,950
36.00 38.0 1 1,368
15.00 38.0 1 570
50,504(m*)x1.1=55,554.4(m") 5.6
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(

(

)

)

80
( )

58
8

16:00~19:00
)
19:00~21:00 7.5 hr
5.7-1~  5.7-2

5-56

(22:00~ 7:00)
(

9:30~12:00
1

700 m>
12.25 m’
7.5

7:00~9:30

13:00~16:00

5.7-2

5.7-3



5.7-2

Bl B2-1 B2-2 B2-3

1,444,664 B3 B4 B5 B6 B7 v

Bl B2-1 B2-2 B2-3

1,292,064 B3 B4 B5 B6 B7

Bl B2-1 B2-2 B2-3

1,116,288 B3 B4 B5 B6 B7

570,240 |B2-3 B3 B4

Bl B2-1 B2-2 B2-3

392,040 B3 B4 B5 B6 B7
Bl B2-1 B2-3 B3
548,856 B4 B5 B6 B7 v
392,040 (Bl B2-1 \%
Bl B2-1 B2-2 B2-3
792,000 \Y

B3 B4 B5 B6 B7

105

B2-2:

B1:

http://www.soilmove.tw/Dump/DumpList.aspx

B2-1: ( 30 %)
( 30% 50%) B2-3:
50 %) B3: B4: BS: B6:
30 % B7:
()
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5.7-3

(km)
- - - 11.3
11.4
T . o - 12.8
. — — 64
3 - 3 -
- ) 31.1
. — —
- — -
R N . ) 17.4
. — —
- 116 ( )— 14.0
R R 1 - 64
31.8

61

15
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5.8

RS

5.8-1

54.02

(2015
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5.8-2

— & en <

Low-E

= & en

CO,

CO;
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5.8-3

149
29
BD=
BDc= RS1=18.75x (BD-BDc)/BDc +1.5= 0.00
TCO,=226194.80
TC02C29675000 RS2=6.81x (TCOQ- TCOZC)/TCOzC +1.5= 9.00
A=0.45
2c=0.13 RS3=4.0x (A-Ac)/Ac) +1.5= 9.00
EEV=0.68
EEV EEVc O
EAC=
EAC RS4,=10.00x (0.80-EAC)/0.80 +1.5= |3.00
EAC EACc O
EL=0.55
ELo=6.70 RS45=10.50%  (0.70-EL)0.70 +1.5=  (4.00
EL ELc 0
CCO,=0.53
CCO,C=0.82 RS5=19.40x (0.82-CC0O,)/0.82 +1.5= |8.00
PI=
1330 RS6=13.13x (330-P/330 +1.5=  |0.00
[E=65.00
IEc=60.00 RS7=18.67x (IE-60.0)/60.0 +1.5= 3.06
WI=8.00
Wio=2 00 RS8=2.50x(WI-2.0)/2.0+1.5= 8.00
WI Wlc O
Gi=14
Gi=10.00 RS9=5.15% (GI-10.0/100 +1.5=  [3.56
RS=XRSi= 54.02
20=RS 3737=RS 4545=RS 53)53=RS 64 64=RS
I8=RS 3434=RS 4141=RS 4848=RS 58 58=RS
O O O O
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59

(

(

)

)

46.73 m®> >
20.78 m<30m

5-64

40 m?



(

(

(

(

)

)

)

)

(1-4F)

15

25
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30 m

30
(6-29F)

25

50 40
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(

(

(

)
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)
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10 m



()

11m
5.9-3

5.9-4
5~10

5-69

1 8x20 m
5.9-3
500 m
106
130
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5.10

770

4m

5-72

10



(
(
(

5.11

111

)
)
)

10

47
29

5-73

107

12





